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Sine (sin) / Cosine (cos) / Tangent (tan)
To remember the trigonometric ratio we can use the following saying:

SOH-CAH-TOA

Sin = OQ(PQS)'Le/ Cos = O\d\\;acen‘l’ Tan =OPr)esH~€,,
\h‘\,Pof\fﬂ v Ir\\hoeJren st 00 \Xc.ocwl’
1. Using the triangle below express sine-cosine-tangent.
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2. Using the triangle below express sine-cosine-tangent. NO DECIMALS!
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3. The cos 60° is 1/2 . What does this mean? Your explanation should include something
about the sides of a right triangle.
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4. In AMOP, ZO s the right angle. Suppose s1nP=2—5. Find sinM and cos P.
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Examples: Find the missing side lengths.
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15. A 15-foot ladder leans against a wall. The angle of elevation (the angle between the ladder and
ground) is 70°. How far up the wall does the ladder reach?
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Find sin, cos, and tan for each angle in the triangle.

B
[\\\i\\\
2
c 412 A
)
46
4> <36
L>=39
b =4
SinA=—g—-:3 sinB = H—?— an
COSA=E’—‘£ Qg- cos B = _g_.,

=

Name }/\ e/‘f

Date

N

:+£>‘ =c°
4o= c~
Qﬂ'ézc

Period

fig 2 L
sinA='é€f'|—°:?"; inB= aqo= o =|(0

1
cos A =§2ﬁ',-_- o

tan A = (’é-—tanB: E_"_gi tan A = .Q/,D tan B = G
3. In ARTZ, ZZ is the right angle. Suppose tanR:%. Find cosT and sin R
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Find the missing side lengths.
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Find the missing side lengths.
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A 60-foot ramp rises from the first floor to the second floor of a parking garage and makes a 15° angle
of elevation with the ground. How high above the fi;gt floor is the second floor?
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Sadie is having trouble getting a signal for her cell phone during class, so she decides to leave the
class and stand near a 200 foot high cell phone tower. If the angle of elevation from the ground where
Sadie is standing to the top of the cell phone tower is 49°, how far from the tower is she standing?
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